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o FUT AT F T [ I % FG JoT-97 § FRT 7T 16 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.
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(i) 97 FF%F 1 @ 40 GF JEGTT Jo7 81 F9F FT 1 G FH 81 FE IAC G
gee-giaar 4l

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. T% Yo% Sevdl @l o A< AT el & 7 1
(A) T & (B) gHEgelr &
(C) FHATAT TaH THEYer & (D) SR § q i el

How does a manager want to achieve his objectives ?

(A) Efficiently (B) Effectively
(C) Efficiently and Effectively (D) None of the above
2. FEHES Hed § STgEaH H e = 7 8 feed § 7 1
(A) T3 SUR B G
(B) -4 SR &l @IS
(C) faawer &t =g fafeEt i @
(D) YT Gl

In the context of business what does research refer to ?
(A) Finding out new product

(B) Finding out new market

(C) Finding out new methods of distribution

(D) All of the above
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3. /9 ¥ q o fow frer od uidwerr @ olw=niRe aeer & T § ? 1
(A) TS (B) g
(C) ferfehean (D) Swied qef

Which of the following has formalised methods of acquiring training and

experience ?

(A) Management (B) Law
(C) Medical (D) All of the above

4. ‘go¥ URR & TEEE Y TERUEE R W A © 7 1
(a) = &R (B) #A &R
(C) = &R (D) T & P Tl

To which level of management do the 'Managers of first-line' belong ?

(A) Lower Level (B) Middle Level
(C) Top Level (D) None of these

5. TN & GAY GG & 69 A b G © 7 1
A)  FERE (B) €T
(C) FgfereRer, Fesm T FE (D) ® § T+t

To what function of management is coordination associated with ?
(A) Planning (B) Organising

(C) Staffing, directing and controlling (D) All of these
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6. TEI A HF ........... 2l 1
(A) TR HH BT Bl T (B) forRametl @1 iR
(C) SR ql (D) S § q HE e
Cooperation means ............ .
(A) Desire to work jointly (B) Determining activities
(C) Both of the above (D) None of the above
7. B A 6 @ & FABCT B AW Fel © 7 1
(A) BH BHEBO (B) &% HHIBLT
(C) TAELTl sl (D) LI HEH
What type of centralization Fayol talk about ?
(A) Little centralization (B) More centralization
(C) Effective centralization (D) No centralization
8. BT B 7 U & fba Ry & § 7 1
(A) S (B) 14
(C) 16 (D) 20

How many principles of management have been given by 'Henry Fayol' ?

(A) S (B) 14
(C) 16 (D) 20
9. FM B T& TIH HIETH T & B & a0 &1 § & foe vy § F2l T B 7 1
(A) TeTED (B) =i
(C) S It (D) SWiad § § g el

Which of the following system of management talks about cheap and efficient
way of doing a job ?

(A) Administrative (B) Scientific
(C) Both of the above (D) None of the above
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10. I Fa AT S 1

(A) €ITE IRER

(B) oTfde aRac

(C) AR TR

(D) oiEfE aRad

Scientific management brings :

(A) Social change

(B) Economic change

(C) Mental change

(D) Industrial change

11. M & ... FH AR B 1
(A) TG H
(B) €EAl & Ifed IwNT A
(C) Sl FAREane |
(D) &= ¥
Planning results in decreasing ........... .
(A) Coordination
(B) Proper use of resources
(C) Future uncertainties

(D) Control
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13.

14.

(6) 5609/(Set :

Fret & & %I aolc &l Qv 787 & ?

(A) € §H U&7 AT Bl

(B) Fic MANSH & U6 oA &l

(C) Toe ® Ty RS Ty =T & B

(D) le I2T T e &l

Which of the following is not the feature of Budget ?
(A) Budget creates illusion.

(B) Budget is an element of planning.

(C) Budget relates to planning and control.

(D) Budgets are objective oriented.

=1 & @ F-a1 FEe & T 78 B 7

(a) (B) HIHH

(C) T (D)  fgferenteT
Which of the following is not an element of planning ?
(A) Rules (B) Programme
(C) Object (D) Staffing
Frrs T gk B

(A)  HER® B) =R

(C) hiETH (D) e
Planning is a process :

(A) Periodic (B) Continuous
(C) Casual (D) Annual
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15. a9 .......... frerer 2 & 1
() fag (B) M
(C) oM (D) IR § & 3 el
Rules are .............. details.
(A) Special (B) General
(C) Uncommon (D) None of the above
16. fafr= ... et &1 Frie 8 B 1
(A) = (B) AT
(C) URER oTfa (D) ST H § HF T
Planning of different department s .......... .
(A) Independent (B) Individual
(C) Mutually dependent (D) None of the above
17. T& & 75 Gadl $ A G § 9 B b S Bl S o 7 1
() fEe (B) TR@EH
(C) e (D) TqET

Under what function of management the relationship between different posts

(positions) is explained ?
(A) Planning (B) Communication

(C) Organization (D) Swupervision

5609/(Set : B)/ I P.T.O.



18.

19.

20.

21.

HeT & ATl Hel el & °

(A) FEdS Geren | (B)
(C) ST I+l A (D)
Where lies the need of organization ?

(A) In business organization (B)
(C) In both of the above (D)
.......... He a1t ReR B B

(4)  efERE (B)
(C) SUAHT &t (D)
........... is more stable organization.

(A) Formal (B)
(C) Both of the above (D)

e T & fhae ST oreyg & ?

5600/(Set :

R-agaies el J
SRFT § 9 HE &

In non-business organization

None of the above

AT
ST § & HE TE

Informal

None of the above

il
iz g der &

Three

No definite number

SRR
T | HI3 T

Authority

(A [ (B)
(€) =X (D)
How many standardized forms of organization structure are there ?
(A) Two (B)
(C) Four (D)
YRS T8 ol [ Fed § 7

(A) STERE (B)
(©) et (D)
What is the key to managerial posts ?

(A) Responsibility (B)
(C) Accountability (D)
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22. WYY & 6T &9 B Hoed o 7 1
(A)  fafrdmeer (B) HEHTT
(C) fawsiemtr (D) <M favee
Extended form of delegation of authority is called :
(A) Specialization (B) Centralization
(C) Decentralization (D) Division of labour
23. [FGFRIHTOT Jaeg SR T ... T B 1
(A) muH (B) fadi
© T (D) =g
Staffing is the ........... stage of management process.
(A) First (B) Second
(C) Third (D) Fourth
24. 9 R ... q R Bl B 1
(A) &g (B) el
(C) eIl # Am (D) I%E& A B AT
Recruitment process starts with ........... .
(A) Strike (B) Lock out
(C) Demand of employees (D) Invitation to interested people
25. 3 9 & & ufE § 7 1
(A) TR (B) RIS
(€) TEHD (D) TOTHS
What type of process selection is ?
(A) Positive (B) Negative
(C) Qualitative (D) Quantitative
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26. ‘URET = A ... % |Y ST S B 1
(A) s B) et
(C) R (D) et g s
The word 'Training' is associated with ............... .
(A) Managers (B) Workers
(C) Supervisors (D) Swupervisors & Workers
27. [ESF ey BRI A . T B 1
(A)  HedTl (B) 80
(C) drEw (D) B
Direction is the .......... stage of management process.
(A) First (B) Second
(C) Third (D) Fourth
28. THAET H qdqEh g Al b AH ... g B B 1
(A) T H (B) eilish
(C) H3-|ET &l (D) & & TN
In supervision there is a ............. relationship between the supervisor and the
subordinates.
(A) Distant (B) Close
(C) Face to face (D) Almost nothing (Nil)
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29. IRERET  ‘FHET omErE ¥ § Fr A ® ? 1
(A) B) I
(C) e (D) AR

What out of the following happens in case of 'employees turnover' with the help

of motivation ?

(A) Reduction (B) Increase
(C) Stability (D) Instability

30. SIRERET & ghe H ... e 787 2 1
(A) & (B) fciishan
(C) TE (D) ATl
.......... is not included in motivation process.
(A) Needs (B) Feedback
(C) Tension (D) Action

31. M= & @ Aqa I FAwar aF-d © ? 1
(A)  STEHRET ST (B) R fadivand
(C) & (D) GeEfeeT

Which of the following is the characteristic of leadership ?
(A) Influencing process (B) Physical features

(C) Knowledge (D) Integrity
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32. ‘AN &l HH WasEed H T H § H-d e e v 1
(A) 9T GEe
(B) &
(C) WIS
(D) @RI

'Lack of attention' — what type of communication barrier is it ?
(A) Semantic

(B) Emotional

(C) Organizational

(D) Personal

33. T% e & FE=T ST FE D 1
A) U® @
(B) STl 3@

(C) o & O U8 <@

(D) ST H | HiE TE

Control function of an organization is :

(A) Forward looking

(B) Backward looking

(C) Forward as well as backward looking
(D) None of the above
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(C) awgelt

(D) Sserehi

Controlling is related to ........... .
(A) Results

(B) Individuals

(C) Things

(D) Managers

35. T & def # -6 Tt @ass B 7 1
(A) T ST ol
(B) YalfeR 3isr ot
(€ T T
(D) & & P Tl
What capital is better with reference to control ?
(A) Equity share capital
(B) Preference share capital
(C) Debt capital
(D) None of these
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36. FEM N Ff HAE@ETF el © 7 1
(A) 9H BT B & T
(B) 9ed HF HH & foQ
(C) 2 =t B PN B [
(D) AL T B % T
Why is working capital important ?
(A) To buy land
(B) To buy building
(C) To make payment for routine expenses

(D) To buy machine

37. a%g FEir & fER o & ... Bra o & ST B 1

With the onset of the thought of producing a thing the process of ......... starts.
(A) Buying

(B) Selling

(C) Marketing

(D) Producing
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38. s & /T .ooveeenn. % BT STATSH 2 1

(C) S &l

(D) eiifeor

............... is compulsory for advertisements.
(A) Expenditure

(B) Effort

(C) Both of the above

(D) Television

39, .. ¥ deel i gid qHEE A B 1
(A) fasmaE
B) =TI fasha
(C) fespa Hasd
(D) T=X
............ removes doubts immediately.
(A) Advertisement
(B) Personal selling
(C) Sales promotion
(D) Publicity
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40. /=1 & 9 foppg Hass H9-T 8 7

(A) 8
(B) ek
(C) TeuE HIAN
(D) SUeT |l

Which of the following is a sales promotion activity ?

(A)
(B)
(C)

(D)

Rebate

Discount

Product combination

All of the above
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